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1.

PUBLIC ADMINISTRATION

AT
Paper - il
Sy =l

Assertion (A): Budget is a tool of
legislative control over

administration.

Reason (R): Budget is the annual

financial statement of
estimated Revenue and

Expenditure.

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true, but R is not the

correct explanation of A
(C) A istrue butRis false

(D) Ais false but R is true

. Who, among the following, observed that

there is no compatibility between the
perfection of administrative process as
conceived in the POSDCORB and its

utility in attainment of objectives ?
(A) D. Waldo

(B) Chris Argyris

(C) Herbert Simon

(D) Mary Parker Follet

TOS Fo0S FToP
QOLDOGEN 2G5 &8 TS0

se0 (R): 2GeI &0 Trads, e

200200E0ND IO 0¥

DB (556

(A) A RBocr o $00a0 R, A%
ECIS AT

(B) A. R Bocr 505 =9, R, A £ 50030%
DT T

(C) ADoasd =0 R &y

(D) A 8%y R 0008

2. €od 788° POSDCORB 2r5:568°%) oo

BEAD BHHD, oF TEHS” TN EDADFBH
FORE B DRI 2

(A) Ged 8’

(D) 56 37,6 e85

k>

A-21-03]




3.

Which plan document laid emphasis on
involving voluntary organizations in
making bureaucracy responsive ?

(A) 7" Five Year Plan
(B) 9" Five Year Plan
(C) 10"

(D)

Five Year Plan

19" Five Year Plan

. Who, among the following, was the

Chairperson of the First Administrative
Reforms Commission ?

(A) Jagjivan Ram

(B) Jayaprakash Narayan
(C) Morarji Desai

(D) Chandrashekhar

. Arrange the following Committees on Civil

Services in their chronological order
1. Hota Committee
2. Kothari Committee
3. Sixth Pay Commission
4. Y.K. Alagh Committee
(A) 1,2,3,4 (B) 2,4,1,3
(C) 2,4,3,1 (D) 4,2,1,3

. Who, among the following, has identified

five ‘A’s of NPM, as Alertness, Agility,
Adaptability, Alignment and Accountability ?

(A) Osborne and Gaebler
(B) Nicholas Henry

(C) Christopher Hood
(D)

D) Peter Self

3. &E§H TP 000w AT Soeiieid 5o

S0 grIog0 $owmed T8, DS EerdE
B0 P00 O 2
(A) Dz BoB9E Perds
(B) S2,655 S085G ©emds
(C) 655 3050 Herds
(D) SEFocs SoB5E 36y

. 1208 T88° oesed oo Do), 00 Hoo

@(}5&%)(33 D0 2
(A) 2Re85S oo
(B) esaXsed ororades
(C) 2000 Bz
(D) wosRd

. 29 58500 JADAoDD B $AoeSoso T3

T (55008° 20y
1. 5% &0e5
2. £o6 £20eS
3. 555 HS HDoxo
4

. D3 ol 52063
(A) 1,2,3,4 (B) 2,4,1,3

(C) 2,4,3,1 (D) 4,2,1,3

. 00 70 JrBD ey Aogrey (NPM)S

@005 ‘A'ed &oeradd, ©d), wedlR, RO
deipDel, 6B S00eT 5000k T 0eofided e
HOBOD TV 9

(A) esQerby Hobams Red
(B) 2809 Q0
(C) & “;35 S0b
(D) 3e62
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7.

10.

National Green Tribunal Act was enacted
in

(A) 2000 (B) 2001

(C) 2008 (D) 2010

. Who, among the following, described the

anti goals of New Public Administration
as Anti positivist, Anti technical and Anti

hierarchial ?
(A) Robert Golembeswski
(B) George Fredrickson
(C) John Rhodes

(D)

D) F. Marini

. “Ultra vires” means

(A) Without authority
(B) Within authority
(C) Beyond authority
(D) All the above

Which one of the following is not true about
globalization ?

(A) Creation of an environment permitting
free flow of capital across countries

(B) Creation of an environment which
restricts free movement of labour
across countries

(C) Creation of an environment which
permits free flow of goods and
services across countries

(D) None of the above

7.

10.

2SO0 T08 AR Hgo SPIeloDS

LDoNEGo
(A) 2000 (B) 2001
(C) 2008 (D) 2010

. 808 TOE° BrED HEbE Ted Boo), BIZTe

nSTeo (anti-goals) Srederds (HOSres,
JCEOE (HOKTFOB, ESTERND Fe3 PIETOBT
SESOODE IS ?

(A) Tred FBofdly,

E08 T3S° (B0DETEI 02050 DB TR
%D ?
(A) e BF K0G8 DG 8o
SO0 RFTCLB TEEETR) FoiNio
(B) 5°6)5 #89 iy $0IFS0m Aokoses
DO TTRCETR) ¥ oo
(C) 500, koo ?oogz‘ﬁl)m DOTL A
TTR0ET 800
(D) 359
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11. Match List I with List Il
Listl Listll
(Trade Unions) (Political Parties)
A. All India United 1. D.M.K.
Trade Union
Centre
B. Labour Progressive 2. Revolutionary
Federation Socialist Party
C. United Trade Union 3. C.P.l. (Marxist-
Congress Leninist)
Liberation
D. All India Central 4. Socialist Unity
Council of Trade Centre of India
Unions (Communist)
A B C D
(A) 1 3 4 2
(B) 3 4 2 1
C) 4 1 3 2
(D) 4 1 2 3
12. Provision for creation of Committees for

District Planning and Metropolitan

Planning are contained in

(A) Art. 243 ZA and Art. 243 ZC
respectively

(B) Art. 243 ZD and Art. 243 ZE
respectively

(C) Art. 243 ZA and Art. 243 K respectively

(D) Art. 243 ZG and Art. 243 ZC
respectively

B. 8206 RS 25000

11, Doocsed 563550 Bols DEE s Dabod.

55 1 sgs
(5705 BopTren) (cresdoso FQed)
A. sS30805 1.&. 0.3,
QoG €&
QOTICDS 200e2d

2. O5ergsnd A5OY
%

C. oot &6 3. &2 (378
QOIS TPORR BAVY) DesB3S

D. esSgoda 4. FRPRY el
20185 TS 20085 €59 oty
ol 6 ardangy  (S00R)

o4 1 2 3

12, 8o Perdse £oeden, Does® FOOS Herds

2630 JOIPHo5° DL HoodoDD ©HT o
DERT-E8 ($00 Teron (PECETE &ob
(A) 243 ZA 555830 508055243 ZC 55820
(B) 243 ZD (385830 506050243 ZE (5858
(C) 243 ZA 55530 500050 243 K 555830
(D) 243 ZG 555820 5086050243 ZC (95563
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13. A:

14.

15.

Task
behaviour prescribe a clear norm for

theories of Leadership

management.
R: Leadership style and behaviour are
related to administrative effectiveness.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) Aistrue, but R is false
(D) Ais false, but R is true
Herbert Kaufman and Robert Dahl have

contributed significantly through their work
“Criteria of Relevance” to develop

(A) Developmental Administration

(B) Structural-functional Approach

(C) Ecological approach

(D) Comparative studies in Administration
In which of the following situations does
the need for coordination arise ?

1. Overlapping of efforts

13. A PO (BRGR So20folis ¢y, (Task)
DEOTLY ATFITEEY Dow0RoD &l

(B0reR) JOBoT000.

R: <aidogsg 39 $5o8akn KRS0 o

TOFIGEBD0 50000,

(A) A 508050 R 3ot 5050 Sodaiw R A %
K0 55

(B) A 20801 R o> S0 50, R A
5BG30 9B T

(C) AosD =0 R &y

(D) As3)0 R 3350

14, 555 55508 508010 U0 TG 00 8% ‘E0aboss
Joe@o’ (criterion of relevance) oo 52 (Eod
T BT AeddCIOrT HR DT,

A) BHS Dod

B) QOB - Ao SyHFo

C) Jremr D836 Sorod Gy5iEo

D) Jroli @0emrdS eni3obmes

15, 0550000 55558 Zod wed8” O 20500 Ky
SOV Sl Velaly

A) 500 @@5"&% IS}

(A)
2. Duplication of efforts (B) 2800 08 D9
3. Personal Interest (© ?o Ol (PAdredo D9
4. Conflict of Interest (D) Bairemd 0060 5
(A) 1,2,3 (B) 2,8,4 (A) 1,2,3 (B) 2,8,4
€ 1,3,4 (D) 1,2,4 (C) 1,3,4 (D) 1,2, 4
[+ A-21-03]




16.

17.

18.

The attitudinal approach to leadership is

known as

(A) Behavioural approach

(B) Socio-psychological approach

(C) Trait approach

(D) Cultural approach

Identify the book in which M. Crozier

mentioned the following feature of

bureaucracy. “Bureaucracy is an

organization that cannot correct its
behaviour by learning from its errors.”

(A) Bureaupathology and society
(B) Bureaucratic phenomenon
(C) Bureaucratic process

(D) Bureaucratic power

A : Control over administration is shifting
from legislature to executive.

R: Parliament hardly has time for
detailed examination and scrutiny of
expenditure.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) Aistrue but Ris false

(D) Ais false but R is true

16.

17.

18.

TPOI0ETIS H0OHODD PP CYEE) [T
DOITES ?

(A) 55T yE0

(B) Farey 50T 2erds cyiso

(C) roee yHEo

(D) Jro s ys&o

23S E'HD el TRTRNN) e oFETad
2020800 WS §od TR0 2 (oo EA6 ?
“&E5N D00 B B 00w MEVT
INTD B BHY50 DOORHD BGSY T
(A) axl Igrod wok 0e3
(B) arGigeds podoo
(C) arGisest @b

(D) exrG'sels5b

(A) : TS JoHoe TZD JTHES T°P D006
(o &

SEGTE T 200 eHBRH0.

(R) : rgR00e%> 5503057 BA5TT 5oL

8 DoDHEAS SO BoaKo Seo.

(A) A, R 3o S50 Sodako R A £ £509

hoTefar)

(B) A, RBocir 5055 520 R A £ 508 2558
o0

(C) AR50 50 R &y

(D) A8z R 5306
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19.

20.

21.

F.M. Marx refers to the Prussian Civil
(1640)
bureaucracy of Sung period (960 AD) as

Service and the Chinese

(A) Caste Bureaucracy
(B) Guardian Bureaucracy
(C) Rational Bureaucracy
(D) Patronage Bureaucracy
Which of the following are true about
Theory X ?
1. Human beings dislike work
2. Human beings avoid responsibility
3. Human beings should be punished

4. Human beings are committed to
objectives of the organization

(A) 1,2,3,4

(B) 1,2,3

(C) 2,3,4

(D) 1,3and 4

Which one of the following is not a

subsidiary government company form of

Public Enterprise ?

(A) Bokaro Steel

(B) Hindustan Steel

(C) Steel Authority of India Ltd.

(D) Salem Steel

19. 5.0, 50ty (%55 255855 (1640) 508000

200R oY) &6 Hvs9g0 (960 AD)oss goe
28T

(A) o &6 5Arssog (caste beauracracy)
(B) moanS ZJJ§U°L_§§O

(C) “rsveg alghrghago

(D) &3 (patronage) &S snarssoso

20. 253 oo N0 Eod TErd I

K509
1. 55500 352 08 3Rt
2. 30w 25°C5§é§€63 B0 TED
3. 2P0 Bdotesd

4. 3580 éébé OF %0 5023638@ GOS0,
(A) 1,2,3,4
B) 1,2,3
©) 2,3,4

(D) 1, 3 508050 4

21, $od T38° e5da30¢s (9808 S0 HEI® (e

SON H0R B A6 ?
(A) T8 QS
(B) &rotorS»S
(C) ‘i‘?é w05 es5 godal o0&

(D) oo 2\3@5
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22. The concept of Separation of Politics from

Administration was first advocated by
(A) Frank Goodnow
(B) L.D. White
(C) Woodrow Wilson
(D) F.M. Marx
23. Justice R.S. Sarkaria Commission was
appointed to look into
(A) All-India Service Reform
(B) Boundary Disputes between States
(C) State Administrative Reforms

(D) Union-State Relations

24. Droit administratif is a concept followed in
(A) Spain (B) U.K.

(C) France (D) Germany

25. The “Mansabdari system” under the
Mughal Administration included
1. Ministers
2. Civil Servants
3. Army Officers
4. Members of Royal Family
(A) 1,2,3 B) 1,3

(C) 2and 3 (D) All the above

22, adare 5008 Jedts EBATED grHHto
FOT BSITBOVHD IS5 ?
(A) @m0k e
(B) 35.3.2¢5
(C)
(D) 520558,

%@8 3@&5

23. &% ©6.05. Ho7,005 SnS B MHBod
DATACTED ?
A) o gt séogm@ 00,5899 00

(A)

(B) OT’%‘@ S0G50 AT MO0
(©) O”@@"’@E" 50,0890 80D
(D)

D) oOrdohns - T 90820570 300

24, ©r000e5 esid(Re3D BTRRo redo Bio

25. 2ooMoow TSR $erd Ao 08 &E
&000.

1. Soooen

2. 250500

3. DIE Pz

4, ores 002 621)23@0
(A) 1,2,3 B) 1,3

() 2,3 (D) 5%,
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26. A: Government of India Act, 1935 gave

provinces exclusive authority in a

defined sphere.

: Introduction of provincial autonomy
under the Government of India Act,
1935 was the culmination of the
process of decentralization initiated in
1861 by the Indian Councils Act, 1861.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true and R is not the
correct explanation of A

(C) Aistrue, but R is false

(D) Ais false, but R is true

27. Census is an example of
(A) Case study

(B) Exploratory research
(C) Survey research

(D) All the above

28. The technique of quantifying and

arranging in order the behavioural/
attitudinal responses in a questionnaire is
known as

(A) Qualitative variable
(B) Scaling
(C) Coding

(D) Parameter

26. A: 1935355700 Habis (0 Tfo e85 D03
500E 5 s Trs $owod.
R: a705 ©ebss o 1935 (B5o Tafed

D3 00 HANY $D10D HAIES
BaFEG0 b gTES S Heo 1861
5700 18618° D3 Fodster RIGa
9083550 OB

(A) A, R 3o S0 508ako R A £ £50%
AT

(B) A %0800 R Bocr (5050 eand R A %
K0 Q58589 T°¢H

(C) AR50 50 R &y

(D) A 830 R 5306

27. eorgr 50 0% 00 $0d T3E” BIS &TSes ?
(A) 2% D500 exgszamiso
(B) BATTEE B0
(C) 535582 08¢0
(D) 2 ey
28. (HTNHY HPSS eErenTtie PITD/ N0

BN S0P (HITBEB0 o (EHo0S’

DS600DOEK EXBTACD 3o K)%S@ED D006 2

k>
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29. Which of the following are correct about

money bills ?

1. Relatesto all Income and Expenditure

out of the consolidated Fund of India

. Money bills are decided by the

Finance Minister
. To be approved in Lok Sabha only
Rajya Sabha can vote on money bills
1and 3
1,2and 3
2,3and 4
(D) 1,3and 4
30. The book “The Administrative State” was
written by
(A) Woodrow Wilson
(B) H.A. Simon
(C) F.M. Marx

(D) Karl Marx

31. Aseparate Ministry of Tribal Development

29. $ob TS (555 Do Bowood A BPST

580506,

1. 5P55 5050635 DOE ) Tab O

50200008,

(65395 Elegio e B0 YO

(€555 eidd EBXYE” STIBR0 RIS
. Treggoay (5395 Do £.edoh Doty

1,3

1,2,3
2,3,4
(D) 1,3, 4
30. ‘0 e edS oY & P TRod
(A) &E dend
(B) 352 s

(C) 520578,

(D) §°§ 58

31, ASTEHQ B0 T @559§§ TP A

was created in 0P DT 2
(A) 1996 (B) 1990 (A) 1996 (B) 1990
(C) 1991 (D) 1999 (C) 1991 (D) 1999
TS 12 A-21-03|




32. ‘British Parliament is a talking shop’.

Who said this ?
(A) L.D. White
(B) Mannhein
(C) Harold J. Laski
(D) Harvery Mansfield
33. Which is the nodal agency for Gender
Budgeting in India ?
(A) Planning Commission
(B) Ministry of Finance

(C) Ministry of Women and Child

Development
(D) Ministry of Social Justice and

Empowerment

34. Which of the following Typologies of
Public Policies are suggested by

Theodore Lowi ?

(A) Regulatory, Capitalization
(B) Distributive, ethical

(C) Capitalization, ethical

(D) Regulatory, Distributive

32. @é\f)\ﬁ“’gﬁooéao TCED C0SE0 DI DD
DTN ?
(A) 5.6 285
(B) 5SS
(C) od&. oy,

(D) %628 3Gy

33. groB0E08” Yo S0 (SBY eige] GrBseySD
B0 éog 28 ?
(A) Perdse Dozvo
(B) 0¥ D00 TP
(C) &, 3> $0F0 BooBEs T8

(D) IrRorEETreibo, JPEST08 Soo Bl T

34. 52 o8 T°3S° (e IO 02080
BARTEE ° B VoD $SH0°TE ?
(A) VP08, TS s ITTed
(B) ws0Foss50des, 250
(C) T3 oo IT-ses, pOSS

(D) AQAF0E, WSoFeg 3oded
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35. MatchList | with ListIl.

Listl Listll
A. Public Policy is 1. James
whatever Government E.Anderson
chooses to do or not to do

B. Policy is a choice made 2. Thomas
by an individual or group R. Dye

of individuals that

explains, justifies,

guides or outlines

a course of action

C. Public Policy is a 3. Larry
purposive course of
action followed by an
actor or set of actors in

dealing with a problem

4. Robert

Presthus

D. Public Policy making
is a combination of
basic decisions,
commitments and actions
made by those who
hold or affect government

positions of authority

N. Gerston

. (98085 D50 9063

. AR50 ©06d 53 w9

35. 208 erTeio 0ol eSS 8Py

| =z

1. 850 3. 990
(980850 D D30

D0 DA @ TS

502000

2. o0 b, &
D500 BHOTEO 1)

TUH0 9500000

ST é;ﬁagof)ocjogs

DHO0DOE” SFEITEI0

Dhooes® S8 stowes

@es,)gg\o

. BEbE Ao wosde sy 8. o0 A8, A6RS

508 5o’ .55 T
©0BE0E) D)5 508 5D
Q) EEessor

DI TG

. DB SO RSYT TN 4. Toaf BEd

B ST 0
©eTB0 D BISSUN DD
DT Boopg Daire,
TITT00, T°0 B 9
50 (95085 D%
SOOI Y

A B
(A) 1 3 4
(B) 4
(©)
(D)

—
AN W N O
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36. Who was the Chairman of the

Commission that led to the creation of

PESA Act, 1996 ?
(A) B.D. Sharma

(B) Dilip Singh Bhuria
(C) Harsh Mander

(D) Arvind Netam

37. ‘Maturity-Immaturity Continuum Theory’ is

associated with

(A) Rensis Likert
(B) Chris Argyris
(C) Peter Drucker

(D) Frederick Herzberg

38. Who proposed replacing the
‘Bureaucracy-in-administration mode’ by
‘bureaucracy - in - society mode’ in

development administration ?
(A) Kuldeep Mathur

(B) Mohit Bhattacharya

(C) Shamsul M. Haque

(D) R.K. Sapru

36. 1996 23 (PESA) 15650 90062080 250 B2
S0 PGS DI 2
(A) 8. &.50,
(B) &8520R axrdasy
(C) 55 50csd

(D) e9506 288

37. 50055 - 90035 AToHES ?ocgp"oééo 52 (Eod

7°0E° 2502 H02000I05?

(C) Heb sy 6

(D) (3¢508 Geob

38. PNY FosE, oI &GN S50 et
205000, DIFE0S” SERTEH0 D HEE
HOTBOD0E S 2

(A) £565 55676
(B) 2025 g yorSy
(C) X5 do. 5°E

(D) e63.3
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39. Public Accounts Committee was originally
established in

(A) 1922
(B) 1935
(C) 1947
(D) 1953

40. A : Economic Planning is concerned with
elaboration of growth strategy.

R: The long-term growth strategy does
not mean that the immediate tasks can
be ignored.

(A) Both A and R are true, and R is the
correct explanation of A

(B) Both A and R are true, but R is not the
correct explanation

(C) Aistrue but R is false
(D) Ais false but R is true
41. Which of the following constitute

discretionary powers of the Governor in a
State ?

1. Appointment of Chief Minister if no
party secures majority

2. Appointment of other ministers

3. To send report to the President if the
constitutional machinery breaks down
in the State

4. To appoint Advocate-General
(A) 1and 2 (B) 1and 3
(C) 1and 4 (D) 2,3and 4

39. ($E08s TTO DORTV) DOSEITOT DT Dk
Qoo
(A) 1922
(B) 1935
(C) 1947
(D)

D) 1953

40. A: 08 Berddste: w0 98 IRy
DRYESEHEE 0208050
R: OFsto 50 oot 85 S0
DOOVERTHO 5
(A) A 208000 R 3o Todkan 8o R
SR8 A K 53 IS5
(B) Ax08030 RBocr ooi5san e90200 R 58
A £ 585 D55e 52050
(C) Az =20 R &y
(D) A8y Ro%s%o

M. G035 M THIKHD G0k NFFTETT 2
(A) D 6 sree Joerded FrHoBS &
;6033352530@?3) NlevSNbieinlnle}
(B) 388 0000 QoXrkoso
(®)] @@oeﬁs Orezsoft QI0O@0M0 IPOIID
RoEEEE TGS TDBK Hodko

(D) e9&%53e5 22580 AaHA0BE0
(A) 150005 2 (B) 1 50605 3

(C) 1 508050 4 (D) 2, 35805 4
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42,

43.

44,

Match List | with List Il
ListI Listll
(Books) (Authors)

A. The New Industrial 1. David Lane
State

B. The Socialist

Industrial State

2. James
Burnham

C. The Managerial 3. J.K. Galbraith

Revolution
4. W.W. Rostow
A B C
(A) 2 4 1
B3 4 2
©) 2 3 1
(D) 3 1 2

Identify the chronological order in which
the following were introduced during
British Administration of India.

1. Separate electorate

2. Legislative devolution

3. Bicameral system

4. Provincial autonomy

(A) 2,1,3,4 (B) 2,3,1,4

(C) 1,2,4,3 (D) 1,2,8,4
Central Public Service Commission was

established in 1926 on the
recommendation of

(A) Minto-Morley reforms report
(B)
(C)
(D) Cripps Mission

Lee Commission

Montagu-Chelmsford reforms report

42,

43.

44,

2008563 TS0 BolE eSS 58P0

=0zl

1. & 8S

ez |
A. Br@% OFE Toesg0
B. TSogmees 0@ 08

U°83§O
C. Jogrs Ao 3. 2. rd@s
4. e el
St
A B C
(A) 2 4 1
B3 4 2
C 2 3 1
o3 1 2

BrEB008 OS2I 0S S0’ E3FeIS §o
T3 S ES00E” KHO0W0E.

1. S8 e $Tred
2. TITEE 9FS°TO eX5T"0000:)
3. e&aom ¥ee 93
4, OB D000 PSS
(A) 2,1,3,4 (B) 2,3,1,4
(C) 1,2,4,3 (D) 1,2,3,4
54 (800 TUE° B P00 S0 1926 &° 2o
388 38500 EBSB0 Aoeytn Dasberdtos ?
A) 20065 557 0, Ter0 JIBY
B) & 52008
C)
D) €% 0%

(
(
(C) 5703R DS9y9d S0y Gere JDES
(
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45.

46.

47.

Arrange in chronological order the
following books and authors.

1. New Patterns of Management by
R. Likert

. The Functions of the Executive by
C. Barnard

3. Administrative Behaviour by H.A.
Simon
4. The Ecology of Public Administration
by F.W. Riggs
(A) 2,3,4,1 (B) 2,4, 3,1
(C) 3,2,4,1 (D) 3,2,1,4

Which one of the following is not a part of
saptanga theory of the State enumerated
by Kautilya ?

(A) Kosha

(B) Mitra

(C) Yogakshema
(D)

D) Janapada

Match List 1 with List Il
Listl Listll

A. Elton Mayo 1. Constructive
conflict

45.

46.

47.

0 N
&5 @oes 28Ky (ogres, TogEess SPoEhoo
TOM 08506
1. e 875 Sisoms - 5. 85,5
SERITHRE oo - . BTN

TS (DRSS - B, PBOd

H @ D

SEDS; TOTHCE - AP, s, Oy

(A) 2,3,4,1 (B) 2,4,3,1

(C) 3,2,4,1 (D) 3,2,1,4

S0 T3S DB Fedwogss DBOODD DI

?oc;;o@é’)é D02)0H0WDE T ?
(A) §%

(B)

(C)

(D)

@

ABPKED

SIS

20653 2T B e eS8

| =zl

A. 293 OB 1. dooerds Sosogesnn

B. 200 7,6 7065 2. 55955508 (Peraren

B. Mary Parker Follet 2. Transactional C. &558 and 3. e STHYHE
influence
2T
C. D. Mcgregor 3. Concept of
rational man 4. 560 Brmes
4. Hawthorne A B C
experiment
A B C (A) 4 1 2
A4 1 2 B4 3 2
B4 3 2 C4 1 3
< 4 1 3
D) 4 3 1 (D) 4 3 1
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48. According to Henri Fayol which of the

following are ‘Principles of Administration’ ?
1. Unity of Command

2. Decentralization

3. Equality

4. Scalar Chain

(A) 1,2and 4

(B) 1,3and 4
(C) 1,2,8,4
(D) 1and 4

49. Identify the sequence of the following

research activities.

1. Data Collection

2. ldentifying Research Problem

3. Sampling

4. Hypothesis

(A) 2,3,4,1

(B) 2,4,3,1
C) 4,2,1,3

(D) 4,2,3,1

48. R 005 (35750 Gots D70y T3S D Jeis

QA0S0 ?
1. esep Q8850
2. JRohssen
3. HSTBB0
4. 9§ H50HS
(A) 1,2,4
B) 1,3,4
) 1,2,38,4
(D) 1,4

49. 205D SEETT D Ho20R0d Gods BB

T3 5D EHTA 00 ?

1. Soro¥ Hsse
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50. Identify the sequence in which the

following functions in Personnel

Administration are preformed.
1. Recruitment

2. Training

3. Job Analysis

4. Performance Appraisal
(A) 1,8,2,4

(B) 1,2,3,4
©) 3,1,2,4
(D) 3,2,1,4

Match List 1 with List Il
Listl

51.
Listll

A. Department of 1. Pay Research

Economic Affairs Unit

B. Department of 2. FEMA
Revenue

C. Department of 3. Budget Division

Expenditure

4. Financial

Institutions
A B C
A) 3 2 1
B) 3 1 4
Cc 2 4 A
D) 2 1 4

50. &Gh enocs oS 3ot 287 SEETRRY 5D

E50°Qy Yool

1. 28
2. 3%

50 B
1,8,2,4
1,2,3,4
3,1,2,4

(D) 3,2,1,4

51.

|

A. esgg‘ 5550“55@0 7 1.

B.B?)?Sfé%"’gp
C. $500 TP
A B
(A) 3 2
B) 3 1
C) 2 4
D) 2 1

3%3%550 20805

2008563 2TE0 VO er)TS e3dGEo50

et ||

D65 H505°SD

Do
95 (FEMA)

2@5 Do

4, & 302308 HoKew
= @

4+

20

A-21-03]




52.

53.

54.

Victor Vroom’s motivation theory is known

as
(A) Force theory

(B) Reinforcement theory
(C) Expectancy theory

(D) Equity theory

In which year was the Covenanted Civil
Service renamed as Indian Civil Service ?
(A) 1858

(B) 1861

(C) 1887

(D) 1919

Which of the following are not
Constitutional Authorities ?

1. Finance Commission

2. Planning Commission

3. Comptroller and Auditor General of

India

4. S.EEB.L

52.

53.

54.

2F6 &7 (e RToTR) B0 ?
(A) =3 ?oc(j;oééo
(B) 3gws ?oq;oééo
(C) e300 ?ocgoééo

(D) oz ?ocgoééo

D B055y508° §55063& 2 B3O D g7

219 DT 57008 9

(A) 1858

(B) 1861

(C) 1887

(D) 1919

o8 T3E° DD TGO RS S S0P T 2
1. QBQS/ Koo
2. ReTIT° oo

3. 5758 oS b e0b esderd s
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55. Which one of the following is not a staff

agency in India ?
(A) Cabinet Secretariat
(B) Planning Commission
(C) UPSC
(D) R.B.I.
56. Provisions relating to maintenance and

auditing of accounts of Panchayats are

made by
(A) State Finance Commission
(B) State Legislative Assembly
(C) Comptroller and Auditor General
(D) District Collector
57. The purpose of judicial control over
administration is

1. to control policy and expenditure of the

government

2. to ensure legality of official’s act and
safeguard the rights of the citizen

3. to bring officials under the control of

55. 52 $0b T3S DO gro8dd D DB
0020080 0VIE T 9
(A) 20T SIrecho
(B) erdse dosvo
(C) crdand D98 H05 &5
(D) grodomd Oestiyy a0
56. Homrayode S0 S0 JT5T°e, ERESES

$0250000S BECETDE8 STFPoBoDE ?

(C) Soigfed eob esciedb essesd
(D) 25855
57. Jrodp 0l T Jaoes &QF0
1. (e ATy, S JoboGoneso

2. &z DGO 23%9236@5@ Eyoucio o8k

T 55, 0% S5 Soico

3. ®¥HToeI0 PE JaYooes ol L

BT
the people
(A) 1 only (B) 2 only (A) 1 5@ (B) 2 5o
(C) 2and 3 (D) 3only (C) 2 508050 3 (D) 3 srEo
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58. “Poly-Communalism” is a term coined by

Fred Riggs to describe
(A) Integrated society

(B) Plural society

(C) Diffracted society

(D) Parochial society

59. Classical theory places emphasis on
1. Formal organization structure
2. Citizen’s participation in governance

3. Principles of hierarchy, division of

work and span of control
(A) 1 only
(B) 2and 3
(C) 1,2and 3

(D) 1and 3

60. Karl Marx regarded bureaucracy as
(A) an instrument of governance

(B) aninstrument of dominant ruling class

promoting their particular interest

(C) aninstrument of nobles for promoting

their interests

(D) a medium of policy implementation

58. (& Of “% erdobe” (Poly-Communalism)
SRR a i febmictalohialatly) SgoNES
(A) 5050638 Sdoes0
(B) 2350% ee800 H85°e0
(C) PP Sdorez0

(D) 20508 Sdoreso
59. SoEmro®d ?oz%"oééo &8 g 39200

1. ooiisd 553 BB

2. NSBynS" 6 e

3. E3reanBEe3, (0 Javesd, JoHoeTHd

2P @0

(A) 1 S3rE0
(B) 2 558003
(C) 1,25060%» 3

(D) 1 500050 3

60. 5°8 5570y, e PIRT 307 A0S 9
(A) &8 Drome esdone
(B) es0sisy 0¥ 559 5B Paramrd) T8
2.8 JGSdom
(C) EE50 Daresress S .8 oo
(D) oo ©9500080 Do20H00S ey

QT GgI0TY

k>

A-21-03]




61.

62.

63.

Family Planning Programmes were first

evolved in
(A) India
(B) China
(C) Pakistan
(D) U.S.A.
Which of the following is true of Self-Help
Groups ?
1. Voluntary in nature
2. Provide insurance for women
3. Empowerment of women
4. Regulated by government
(A) 1and 3
(B) 1and 2
(C) 1and 4
(D) 1,2,3
Identify the chronological order of the
following Committees on Panchayati Raj.
1. G. V. K. Rao Committee
2. K. Santhanam Committee
3. L. M. Singhvi Committee
(A) 1,2,3
(B) 2,3,1
(C) 3,1,2

(D) 2,1,3

61.

62.

63.

£62002) OO SISO FOT JTmE TR
%o

(A) eroscyso
(B) &=

(C) 8xS
(D)

35000 BN eoTre HBoY 9 $o8 T3S
D [BHD

1. gtods $5e7790 Sod

2. Ho% 387 05, $0icEo
3. Qo TS
4, (550850 T0° JODOHOWICEEO
(A) 1 508050 3
(B) 1 5080 2
(C) 1 558050 4
(D) 1,2 508050 3

SoTONS T DomEn DS SAoedeso Ted s
E9008° Jomyen Daod.

1. 2.2, o) 520e3
2. 3. 000 80
3. 2. do. Lohg Eoed
(A) 1,2,3

(B) 2,3, 1

(C) 3,1,2

(D) 2,1,3
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64.

65.

Match List | with List Il

List| Listll

A. Legal Authority 1. Convention

Based

B. Traditional Authority 2. Personality

Based

C. Charismatic Authority 3. Rule Based

A B C
A3 1 2
B) 3 2 1
€c1 3 2
@1 2 3

Identify the chronological order of the

Governor-Generals in India.
1. Lord Dalhousie

2. Lord Cornwallis

3. Lord Bentinck

4. Warren Hastings

64. D005 )T Vo erTES eBRGH0S

65.

P | et ||

A. iﬁéégabcg Ez°To 1. Doy es5°08
B. Sopdmrah o 2. beéééog 508

C. QAT S e9is°C0o 3. A0 e35°08

A B C
A3 1 2
B3 2 1
€1 3 2
D1 2 3

ETSEBED MRS 2350580 70 565D ToEeos”

1H80H0CG
1. o8 &S
2. O ESTIO
3. &b aoedok

4. 5"55 fy?e\goﬁo

(A) 2,4,3,1
(A) 2,4,3,1
o (B) 2,3,4,1
B) 2,3,4,1
() 4,2,3,1 (©) 4,231
(D) 4,3,2,1 (D) 4,3,2,1
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66. “Public Administration includes all the

activities of the government whether falling
under the sphere of the legislative,
executive or judicial branch of the
government”. This statement reflects the

(A) Integral view of administration
(B) Wider view of administration
(C) Managerial view of administration
(D) Narrower view of administration

67. Who, among the following, are the authors
of the book “Reinventing Government” ?
(A) Bower and Christenson
(B) Garson and Overman
(C) Osborne and Gaebler
(D) Campbell and Loise Allen

68. A : The Vice-President presides over the

meetings of the Council of States
(Rajya Sabha).

R: The Vice-President is elected by
members of Rajya Sabha.

(A) Both A and R are true and R is the
correct explanation of A

(B) Both Aand R are true but Ris not the
correct explanation of A

(C) Aistrue but Ris false

(D) Ais false but R is true

66. “(Hends TR0 TIRD TP, SORTGIE T, D00
T HOQE &0t w9 PEbE; TEETTE 57
SOL0O” e ?5&5"5260 8 QP008.

(A) Freisp 8o Ko
(B) reisp iy Syso
(C) oy Ao Y50

(D) Jrody SoAS SyS)Eo

67. (ansSses (8 dRxoedoR MsSR00es) (orss
AHS> 2
(A) £5°56 B000K0 ERe Howo
(B) S K000 £.:56508e0
(C) esReby 500050 Rexden

(D) 37058 $080X0 930000 e9Boe0

68. A: & iy Toagle SNIAToN e
RO
R: e Toesgioay 58500 Eo0oerd

(A) A, R 3o S350 508ako R A £ £50%
AT

(B) A, RBocir 5055 520 R A £ :50% 2558
¢

(C) AR50 50 R &y

(D) A 830 R 5306
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69. “By maximizing the productive efficiency | 69, “x& SO G @nm%g)& HOBRGHesO

of each worker, scientific management CTiSU"%“gggQYO IS5 SO, éﬁséme

would also maximize the earnings of the sEaredy K030 5 %306. %ﬂ’écdo 5%
workers and employers. Hence, all
DOBomrpenads, EDE I wly oy
conflicts between capital and labour
o D088 D00 T 0N S TG0 2208
would be resolved by the findings of >

science”. This statement is made by 80 2

(A) F.W. Taylor (A) 5. cearg 3eb

. . (B) Taxd 56 Bl
(B) Reinhard Bendix

(C) @ groeT
(C) Henry Grant
(D) @ros ASES
(D) Frank Gilbreth

70. 200338’ by BT POBI0E3 ?

70. Which of the followings are the findings of

the Hawthorne Experiments ? 1. §°%§o@o Nz &o00 5080500 DEYTo

1. Workers are not isolated and HOROGII T

unrelated individuals 2. 5O oo Y TUTeEY (W08
2. Workers are motivated not only by oL

economic factors 3. TG0 GEEED IS B HOPBIV
3. Workers’ productivity is governed by T0° ATOBR0YB00.

the physical working conditions
Py J 4. 505000 COPHBE TRTTEIT DG § e

4. The workers tend to form the informal

R &oeTED
group
(A) 1,2,3,4 (A)1,2,3,4
(B) 1,2and 4 (B) 1,2 50800 4
(C) 1,2and 3 (C) 1, 2,560 3
(D) 2,3and 4 (D) 2, 35080 4
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71. Match List I with List Il 71. 220858 eTein 008 erTrS estdSEot0d

List| List 1l
e | =zl

A. Trained Incapacity 1.D.Waldo
A. 3502 50 SORS w858 1. Gl o8

B. Zone of Indifference 2. H. A. Simon

C.Programmed and 3. Chester B. omigs 506 2. 3R o0
non.-p'rogrammed Barnard C. soyesoniios, 3 256 mc‘gé
decisions C e

4. Thomas Veblan SogERgo
A B C
?SK)QQ‘S"@Q

A4 3 2

*) 4. TR0 DerS

B4 1 2

A B C

3 1 4

D)3 2 4 (A) 4 3 2

Question:72t0 75 : B4 1 2
Why is culture so important to an organization ? €3 1 4
Edgar Schein, an MIT Professor of D)3 2 4

Management and author of Organizational
(%) 1 723006 75 ¢
Culture and Leadership : A Dynamic View,

suggests that an organization’s culture | S98 P00S I ©od Ineppoa? MIT &

develops to help it cope with its environment. AS5Ter T 6 280K eSRESHS Sb wob
Today, organizational leaders are confronted

OeaB: 2 GO0 I, (06 €900t 5D 20008 DR
with many complex issues during their
attempts to generate organizational | &390, &5 5598 SoRd G So7gICET) BERD

achievement in VUCA environments. A DFOTenG BocHB08. 2 e Vuca Sogserd”
[~} ™
leader’s success will depend, to a great
D590 a0 THOTTY 0T DA H55Ke
extent, upon understanding organizational

culture. TODHND SDY SO BR AT, CENTHD.
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Schein contends that many of the problems
confronting leaders can be traced to their
inability to analyze and evaluate
organizational cultures. Many leaders, when
trying to implement new strategies or a
strategic plan leading to a new vision, will
discover that their strategies will fail if they
are inconsistent with the organization’s
culture. A CEO, SES, political appointee, or
flag officer who comes into an organization
prepared to “shake the place up” and institute
sweeping changes, often experiences
resistance to changes and failure. Difficulties
with organizational transformations arise from
failures to analyze an organization’s existing

culture.

What is Organizational Culture ?

There is no single definition for organizational
culture. The topic has been studied from a
variety of perspectives ranging from
disciplines such as anthropology and
sociology, to the applied disciplines of
organizational behaviour, management
science, and organizational communication.

Some of the definitions are listed below :

A set of common understandings around

20,0000 ERE" T ADE7R PR B0 20
08 g 0, E0d) Z)fixo{i), Sorergosso D @“’?ﬁagéo
BP0, JPES FGoters , WGIREE PeTd¥oo
@BOLOBSBEC TT° a8 BIBD eSS0 DS S
NGO JoFH000 DD B DEST VoS
DAETOOMT €06 ECITeEB0DBIOE (KT 2.8
CEO, SES, cre:da dosnogoes 85 oA eshidds
DoeITE0. BGIPRO 2.8, e DD TS’ FRAPSS
BE00 BIod, @0coS’E HDR T BEV ST
2569 55 FBEB0, Pergy BAUTRD. 55958, $sod”
352 R0R500 D65 (5338 DORYBR JFEBENc0 DY
STP00.

R SO wold A 9
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which action is organized, . . . finding
expression in language whose nuances are |~ ° F=EFET AgBomEsco.
peculiar to the group (Becker and Geer 1960). | (Becker and Geer 1960)
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A set of understandings or meanings shared
by a group of people that are largely tacit
among members and are clearly relevant and
distinctive to the particular group which are
also passed on to new members

(Louis 1980).

A system of knowledge, of standards for
perceiving, believing, evaluating and acting
.. . that serve to relate human communities
to their environmental settings (Allaire and

Firsirotu 1984).

72. Culture is important to an organization

because

(A) It helps leaders to succeed

(B) It helps to implement new strategies
(C) It helps to cope with environment

(D) All the above

73. Organizational Culture refers to

(A) set of meanings shared by people
within the organization

(B) human communities and the

environment
(C) explicit values of people

(D) organizational communication
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(Louis 1980)
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74.

75.

A : Organizational culture is tacit

understanding among members.
R : New strategies in organizations fail
due to lack of tacit understanding.

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true, but R is the

incorrect explanation of A
(C) Aistrue, but R is false

(D) Ais false, but R is true

A leader’s success depends on

(A) Implementing new strategies
(B) Effective communication

(C) Understanding tacit knowledge

(D) Understanding organizational culture
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Space for Rough Work
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